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GENERAL INSTRUCTIONS TO THE EXAMINEES :

(1) orftemef Trfery ST SeHS s o AT, SRR e

| Candidate must write first his / hegw’%é the question paper compulsorily.

@) WhyEsa ?1‘6@% ¥
All the questi e compulsory.

(3) T T T I ) T ekt 6 o | k
Write the answer to each question in the given answer-book only.

(4) 5wt 8 arafes s €, 37 ol 3 so s g g e |

For questions having more than one part, the answers to those parts are to be written
together in continuity.

(5) weA-va % Tewdl o 3o weiawor § fepelt werr <R fe/ ofae/ ferdemme 8 w R wiwr 3 9
1 T A |

If there is any etror / difference / contradiction in Hindi & English version of the question
paper, the question of the Hindi version should be treated valid.
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G g -
SECTION - A

Tgfoashed! U :

Multiple Choice Questions :

(@)

(ii)

TSI FEAT3TT 1 Y 3o Bha &

. Sl () SR e g
il S (%) I 3 g
The main object of Not for profit Organisationg is :

(A) To earn profit .

(B) Public weg,
(C) To do business are Work

(D) None of the abovye
HTIEr SorE % 3T A A o
(30) d G

&

() BESFHE )| SO 0 Sy

N e
Partners are not entitléd to Teceive
o

(A) Halary fﬂ» 3 (B) (Interest o casc.ince v
(C) “Fees & Commission D) All ALY, Dital
dboyg
(i) IEATRA T %1 i
(37) STl @l @) - I
(|) sfaeh @rar ke

(iv)

Nature of revaluation account j -
(A) Personal account

(B) Nomi
(C) Real account OMing] accounpg

(D) None of thege

mqm%m,mmﬁnmméw
@) 8% ® 10% %
@) 12% ®) 140/0
0
:: pe; ‘;rable F, a company ¢ap Pay interegy on calfe_:
) 8% ®) 10y Ay
(C) 12% D) 14
0
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(37) T T (§) I RS
(@) <O % T (8) T A HIg T
Debenture holders are : 1

(A) Owners of the company

(B) Customers of the company

(C) Loan providers of the company
(D) None of these

(vi) TR O T wHar 3§ uiafda fed s o €, wEed 8

(31) e SR (8) Siiha UM

(W) arEsh /IS (3) UiEHE BT

The debentures which can be converted into equity Shares are called : 1
(A) Redeemable debentures (B) Registered debentures

(C) Bearer debentures - (D) - Convertible debentures

(vii) ﬁ@%m@ﬂﬁﬁ%mﬁm@ﬁ% !

(@) g goh
(®) sl wa semen oft

Total amount of share : in equity and liabilities part of the Balance Sheet
includes the following : 1

(A) Authorised capital
(B) Issued capital
(C) Subscribed & paid up capital
(D) Reserve capital
(vm)ﬂi"ﬂiﬁaimﬁﬁﬂwﬁ\{ﬁ%mﬁﬁﬁqqﬁ@lﬁﬁ Ife gfafy 6 9 @ @ e @

Wi T o s 7

(3) =0 Grar (F) oI G

®) = i @ (2) o @t

In the case of issue of debentures as collateral security, if entry is passed, which
account will be debited ? .

(A) Loan account

(B) Debenture account

(C) Debenture Suspense account
(D) Bank account
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(ix) Tt ferercor st 2 2

@n sHefEisfEm 0 (@) e s
@) arwEiE e @ @i
Financial statements are useful for :

(A) Employees (B) Managers
(C) Shareholders (D) All of above

(x) Tt # & o 1 =5 e fea ST e | 7
(30) @) e fey sfrem
@) FEHH WA Q) Iog5d yraw
Which of the following is not employee benefits €xpenses ?

(A) Salary (B) Provident Fund Contnbutmn
(C) Repairs of Factory Machine(D) ' Rayment of Gratuity

(xi) Wﬁ@ﬁwwwwaﬁaﬁ@ﬁ@

() 1 Y= @?&@ i
@ 10 o (0
In common size Balance s :wtot 1 f B
R ‘w b‘ée al of Equity and total Liabilities are assumed to
(A) 1 %y (B) 100
(€ 10 (D) 1000
(xii) I 365 ﬁ?ﬁmrrﬁaéammﬁm .
BT W e
(31) T4 a%"r 3ited srafy Sy B

ayab]
(A) Average age of Inventory © Tumover Ratig it becg
(B) Average Collection Periog Mes a ratio of :

(C) Average Payment Period
(D) Cheque Collection Period
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2. Teremdgfist:
Fill in the blanks :
() sEEwREEESC ¥ (sm/em)
Interest on Drawing is ___ for firm. (Income / Expense) ' 1
(i) S e e i ol ot il e g | (R e e
The Maximum Capital written in memorandum of association of a company is
called _ (Authorised Capital / Issued Capital) 1
(iii) FOOHI WA H R Bf g | (R aierdeia)
Rate of interest on debentures is . (Fixed / Fluctuating) 1

(iv) & o o fiftem W frifia frar sy 2, o wfewfy Hftem @ B |
(AT /)

When debentures are issued at premiwm, Securities premium account will be

. (debited / credited)

gt fergare, o, Fvd o e € 1 (TR .
Trend Analysis is the technique ofs 4 ¢ ?:" N ss. (Cost / Financial) 1

tzm b )
(vi) TR ST Bl ____@3 FFH ST 8 | (3r/Ag)
Liquidity ratio is also known as Test ratio. (Acid / Metal) 1

)

3. SAfdeTERcHs T :

Very short answer type questions :
() e S et & T e < e sy e A s S R |

Write the name of any two items which do not appear in Receipt and Payment

account. 1
(i) o7 3 T TH HH A 3:1 F oy wited ge wEER & | 3 e A 1/5 R % fo w
A 8, R a7 o A e R | T e -gTi ST R ?
A and B are partners in a firm, sharing profit in the ratio of 3:1. They admit C for
1/5" share of profits, which he acquires from A. New profit & loss share ratio will be 1
[ Turn over
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(iii) 37frm =i T 3vef TSy |
Give the meaning of Calls-in-advance.
(iv) 3raRed-ta ot & = 3w 8 ?
What is meant by non-convertible debentures ?
(v) “dtfafiee’ 32 100 a1t 4,000, 9% T, 4% T2 T Frifira B | o 3 Rt 6
S gl il |
P Ltd. issued 4000, 9% Debentures of ¥ 100 each at 4% discount. Give journal entry

of issue of debentures.
(vi) 3fE % 5,00,000 % o wHgEd W frifi fhy T, Ty 10% sftfirm wt siertiy &
HUTTAT % e 9T S <t qidy = antt ?

If debentures of ¥ 5,00,000 issued at par, but redeemable at 10% premium, what
will be the amount of premium on redemption of debentures ?

(vii) wa fafiee 3 % 4,00,000 3ifFa 7o % =4 % o, @Wﬁ@&fﬁt{am%
e z 92 uﬁwﬁaﬁtmﬁﬁ l m%%mmmﬁmm% :
Manas Ltd. purchased its own debentures .«?f the face value of # 4,00,000 from the
open market for immediate cancellatiog%t’f?;kQZ per debenture. Calculate
of Gain on cancellation of debent}}%ﬁ%“ - :

(viii) o R s sl e 2 68
What is the nature of mtgg%&g%%ebentures ?

(ix) mﬁ%mmﬁﬁwﬁﬁﬁﬂaﬁmﬁmaﬁmm |
Name the two main financial statements prepared by a company,

(x) TarfrTeRat forfta feremolt o forverem #0 d § 7
Why do investors make analysis of Financial Statements 9

(xi) & e frgemo i @ ar T |
Give two differences between horizontal and vertica) analysis,

(xii) T PO T Ty S I 4 R T TR W Qg
dl A e = B 7

The inventory turnover ratio of a company s 4 and jts ¢ogt
. - i ‘ OS
operations is ¥ 2,40,000, then average Inventory wil] pe 9 * OF revene from

the amount

T % 2,40,000 2,
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Short answers type questions.

4. TreifeRa gEett & = B Ui St ot -sr @ 1 fern 1 o i -

01-04-2019

31-03-2020

7

glg -9
SECTION - B

4
SHMET T 15,000
371 I =T 5,000
THMET =T 6,000
371w e == 10,000
2019-20 a¥ & = 50,000

UTH =<1

From the following informations, calculate amount of subscription, which will be shown
in Income and Expenditure Account.

01-04-2019

31-03-2020

g
Subseription in Arrear 15,000
Subscription &£ 5,000

received in advan c
P5epeB s, o

recelved in advance

Subscription reeceived 50,000
during = the -year
2019-20

5, PAaQUawdAARKCRE | Pmmaﬁwﬁr&xﬁmooOWQmmﬁaﬁn
fiifor = 7 4,000 ¥ T STTETOT BT B | STTECOT T 12% a1fiieh U SATS ST AT & | =k 36

F=T | ATEOT G 4TS i AT HiTor |
P and Q are partners in a firm. P withdraws ¥ 2,000 at the beginning of each month.
Whereas, Q withdraws T 4,000 at the end of each month during the whole year. Interest

on drawing is charged @ 12% per annum. Calculate the amount of interest on drawing at

the end of the year.

6. T BH ol gl T 4,00,000 & 7 3ftEa omw T 60,000 TUT HH FAE T 10% 7 | @l w61

el FARIETHT 3 i N1 3 T U I hiord |
Capltal of the firm is ¥ 4,00,000., Normal rate of return is 10% and ayerage profit of the

firm is ¥ 60,000. Goodwill is to be valued at three years purchase of super profits.

Calculate the value of Goodwill.
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10.

11.

12.

8
TR’ SRS 5 < 4% AT H A B e gARER 1Y S wrwd f 1/3 T Rl ¥
o sy ¢d &, 5@ o8 T @ 2/9 3’ & 1/9 A # 3k 1500 e @ (it
9 AR | T % T T AR Yo gt i |

X and Y are partners sharing profits in the ratio of 5:4. They admit Z in the firm for 1/3d
profit, which he takes 2/9" from X and 1/9" from Y and brings I 1500 as goodwil]
(Premium) in cash. Pass necessary Journal entries on Z’s admission.

it shfrem ft % 1 @ s e |

Write any two uses of Securities Premium Amount.

g fefres = it foHfiies @ < 6,00,000 3 wh weflr s A 1wy RaPis 3 € 100 g gy
5000 W 3iEr <ht 20% Sferers T Geret ferfires st ymam v s R, ang R A et
o ST e it SRR |

Yaashu Ltd. Purchased a machinery from Angel Ltd. for ¥ 6,00,000. Yaashu Ltd. issued

5,000 Equity Shares @ X 100 each at 20% premium. Give necessary Journal entries in the
books of Yaashu Ltd.

Y

ife ::‘ 115000 FH 391 % T ey g
e 1 ot e TR 260,000, 335 S A mﬁm%mwm%@

S

TR ST T ST et S e fafe e, e aiwi o) s s v |
Priyanshi Ltd. had invited appli%;t‘;:ﬂfor 15,000 Equity shares of ¥ 10/each at a premiy
- m

of ¥ 2 each. The total appli@__jbn* money received @ .3 per sharewas 7 6() 000. N
the kind of the subscripﬁ(zn “and give journal entry for application mon - ame

, c i
Calculate the number of shares applied foralso. / received.

T {3 T 100 I 3,000, 7% FHOH TR R Ll fpd Rt shem 504 i
. . 3 0

TR R | ‘T o, o) qeeent 3 i wRifeat SRR |

S Ltd. issued 3000, 7% Debentures of ¥ 100 each at par, which ar

. e . . . € repa
premium. Give journal entries for the issue in the books of S Ltd, Payable at 59,

‘T feftiee’ 3 % 1,00,000 iR 7w 3 1000 W % Foms
o st o o s fepen | srfen wirfart R | (arft sredves sy
X Ltd. purchased its own 1000 debentures of the face valye of
market for iimediate cancellation at  97. Pass joutnal entri

@émf‘r?wm@(ﬁ

1 3T 75 7 10 )
< 1,00,000 from the open

€s.
" debenture is T 100.) S. (If face valye of each
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13, Fore T 3 wiieen e u-vides R

14.

() ST S

(i) O

Write thg Head and Sub-Head of following items : -

(i) Proposed Dividend

(i) Debenture

fr=forRaa gemmett @ sameeR frger dam $Hifve
CELU 4

T 9 g1
Tt 6,00,000
HEEGIEEN] 2,00,000

I | 8,00,000
gofEt
Tt et 6,40,000
7] g foat 1,60,000 coﬂ

Prepare common size Bilal

‘”?:m.‘ .‘.r‘:‘: :1:—. lL

Particulars 3
Equity & Liabilities
Equity 6,00,000
Long term Debt 2,00,000
TOTAL | 8,00,000
Assets
Fixed Assets 6,40,000
Current Assets 1,60,000
TOTAL | 8,00,000

% 35,000 B a8 T Hie <l AT 71 HU |

If opening stock ¥ 40,000, Net purchases ¥ 1,00,000, Direct Expenses. ¥ 10,000 and
closing stock is Z 35,000, then calculate cost of goods sold.

SS-30-Accountancy
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16.

17.

18.

10

Ffem fafires % el afied T 60,000 R | SHeT =] 3T 3 : 1 7T aleial A9 2.25: 1 8 |
TR (Y1) 1 e T HIT |

Current liabilities of Jatin Ltd. are T 60,000. It’s current ratio is 3:1 and Liquidity ratio is 2.25 : 1.
Calculate the value of Inventories (Stock).

Qg -4
SECTION - C
ﬁn%mwaﬁﬁm—m@%ﬁﬁaﬁaﬁwémﬂﬁuﬁmw
01-04-2020  01-04-2021

) )
R 1 =ih | 2000 800
Ry & T oieR 1200 1200
R 7Y ABM WTaH 400 600

T 2020-21 3 G T TR YHE T 10,000 |

Calculate the amount of Stationery to be shown in Income and Expenditure Account from
the following information : —~N :

01-04-2020 gq"l%mozl

@& Y@
Stock of Stationery /2(100 ‘a 800
Creditors of Stationery g 1200
Advance paid for 600
Stationery

Amount paid for Statwnery during 2020-21 was ¥ 10,000.

forn, T aftc e wh i 5:3:2 % I § ARG | I B o ¥ et
% 80,000 Ty <Y Y & € § | AR 3@ Ul A A A @l R A I B ot 201 3
AT H T Ul | d 2020-21 3 SO HH A  2,50,000 1 w0 AREd R |

wH 1 -1 it @ e |

Priya, Suman and Shalu are partners in the ratio of 5:3:2. A guarantee is given to Shalu
for a minimum profit of Z 80,000 per annum by the firm Any deficiency in that amount

will be borne by Priya and Suman in the ratio of 2:1. During the year 2020-21 the firm
earned a profit of Z 2,50,000.

Prepare P&L Appropriation A/c of the firm.

§S-30-Accountancy
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19. 3 3 T T EA § SR A9-FI Ao TR E | 2 T B 1/4 Forcdt 6 Fore e

20.

21,

Ay fear | ‘|’ % waw w A fr=feifige foflg o 2

(i) wa9 9 =% HI I FAM: T 10,000 F T 4,000 & TSEHT AR |

(i) e I T 7 ged FEE: T 1,000 T 3,000 ¥ 1 foa S |

(iii) TR W T 2,000 HT GEA K0T ITEHISH ST T |

I ST & HH ) I § Jeh @Il 15T |

A and B are partners sharing Profit and Loss equally in a firm. They admitted C in the

firm for 1/4 share. On admission of C, they take following decisions :
(i) The value of Building and Stock is to be appreciated by ¥ 10,000 and % 4,000

respectively. .
(i) The value of furniture and Machine is to be reduced by ¥ 1,000 and ¥ 3,000

respectively.
(iii) Make a provision of ¥ 2,000 on debtors for bad debts.

Prepare revaluation account from the above information in the books of the firm. 3

afe =Tey ST 2.5:1, e I 1.6-< 1 THT S5 T ¥ 90,000 & T <oy wwfer,

witliratto is 1.6 = 1-and working capital is ¥ 90,000, find

ent i@bilities and Stock. 3

LCLCE

SECTION —D
it 5 ;3 atea g | A m B e H 1 e % ford e s
£T STRRTT | G2 STeI31 o T S <! =231 1 Srehre & o :
() wR D)
@?ﬁa 50,000 | wefidt ~ 35,000
A :!?ﬁ 30,000 | wAER 15,000
= st sl . 10,000

; 16,000
™ 4000 |&FF 40,000
ATER ’

1,00,000 | 1,00,000
| 00

‘o iR T ATEE D
# 5 o o 0O

—/—”/J.
N %‘@ﬁﬁﬁ;%wmﬁ%mmomoml
(1) w o e : Mzgoooﬁmaﬁ%m%w%mmél
?l) gﬁ:ﬁtwﬁ fé%ﬁaﬁql I;w et 9 T 30,000, ¥ 12,000 T ¥ 8,000 e fet e
iii) weftw, wHTR D L

2| i |
3qi'$@mﬁ%mﬁﬁwm

[ Turn over
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A and B share the profits of business in the ratio of 5:3. They admitted C into the firm for
1/4™ share in profits which is to be contributed equally by A and B. On the date of
admission of C, the Balance Sheet of the firm was as follows :

Liabilities ) Assets )
A’s Capital 50,000 | Machinery 35,000
B’s Capital 30,000 | Furniture 15,000
General Reserve 16,000 | Stock - : 10,000
Creditors 4,000 |Bank 40,000
1,00,000 1,00,000

Terms of C’s admission were as follows :
A (i) Cwill bring ¥ 30,000 for his share of capital and goodwill.
(if) Goodwill of the firm has been valued at 3 years purchase of the super profit of T 8,000.

(iii) Machinery, Furniture and Stock are revalued at ¥ 30,000, ¥ 12,000 and ¥ 8,000
respectively. :

Pass necessary journal entries from tlie above information.
L, M 3 N w i 201 1.3 o sted gu
e 13 01 3, 2021@(@4‘[%“ "éﬁmﬁmﬁﬂaéﬁl

S ®)
r——a © ) 40,000
T 20,000
o 60,000
L 1,00,000 80,000
M 60,000 e 50,000
N 40,000 | 2,00,000
2,50,000 2,50,000
g oft & femam e o6 —
f-r zo Terfor <kt H =Rt AT o1 Hoaish € 36,000 W R T |
| e o e

95"30,Accmmtancy
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L, M and N are partners in a firm sharing profits in the ratio of 2:1:1. Their balance
sheet as on 31 March, 2021 was as follows. They decide to share the profits equally
w.e.f. April 1, 2021.

N Balance Sheet
Liabilities €9 Assets (%)
Outstanding Salary 30,000 | Cash at Bank 40,000
Reserve 20,000 | Debtors 20,000
Capital : Stock 60,000
L 1,00,000 Furniture 80,000
M 60,000 Plant 50,000
N 40,000 | 2,00,000 '
" @W 2,50,000
It was also grthigh:
The goodw‘i‘.l of the firm at this date’be valued at < 36,000,
Prepare Partner’s Capital Account.
22. g fr. X7 109 go,ooomﬁ&fﬁaﬁ 10% Siferer ox frfe g srees 7 aTmfE 6 |
Tl 55 wepw 7 ot :
’ I 3ifem |11 W 1 50,000 370 %
TG T ?4@%%),@“?43ﬁ‘mm® oot i
mwmgqllo,oot)mﬁa‘mm L
STree 1 tfreh STE TR <1 s % o S hed & | fora
SR v} e perral S (P |
! . mmmmaﬂTW@wﬁﬂWWWT@wwaﬁt
v 4,000 a7t % fer
el 37 Bl < suﬁfwﬁaﬁqﬁmmg@ﬁhﬁ% l
% 3797 weq L oA | ¥ |
, srferfiat dTC |
| [ Turn over
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Sanjana Ltd. invited applications for the issue of 20,000 equity shares of ¥ 10 each
at 10% premium. The amount was payable as follows :

On Application ¥ 4 (Including Premium), on Allotment ¥ 4 and remaining of First
and Final calls. |

Applications were received for 50,000 shares. Incomplete applications of 10,000
shares were cancelled and amount was refunded. Remaining applications were allotted on
Pro-rata basis. Excess application money is used for allotment. Vijay, who applied for
4,000 shares could not pay allotment and First and Final call money and his shares were
forfeited. All these shares were re-issued @ ¥ 8 per share as fully paid up. Give necessary

journal entries in the books of the company. 4

23. P & v fRfir o wrfer witrfat i, af o < SifRa e X 100 R :
() 2,000,7%W?100mﬁﬁmﬁa%gg;‘amm?nomgqﬂwnﬁmmi

CH g .
(i) 3,000, 9% FE 105 T Fvifira o ,mm?uqqﬁgﬂ'ﬁnﬁmml A

e

Give journal entries in each ofk;tﬁé'?following cases, if the face value of a debenture is

2100 : AN
A

(i) 2000, 7% debenu.@s‘gued at ¥ 100 and repayable at X 110
(i) 3000, 9% debenture issued at ¥ 105and repayable at ¥ 110.

F19ET/OR
BR 1. 3% 10,00,000 3 9% Fvrat ot Foteet et rehr {6 :
(i) ¥ 500,000 3% 9% SHoTEt H 10% T T THG b 7 |
(i) sy . & 3 225,000 TR T Y, FEH TfA-herErRT IAH! X 2,50,000 A Yo
% 9% T forifi R |
(iii) % ¥ T 1,25,000 w1 31 feram | EoTfeen sl < &9 3 % % T T 2,50,000 % 9%
UM T | Rorereht e gt B Sty TS |
BRﬁH.ﬁWﬁWWWI

85,30_Acc0untancy
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BR Ltd. issued 9% debentures of ¥ 10,00,000 as follows :

(i) 9% Debentures of ¥ 5,00,000 at lﬁ?&&m for cash.
(ii) A machine of ¥ 2,25 p*ﬁrcha& om Priyanshu Ltd. For the consideration of it,

9% deben ?%%Sued with a nominal value of ¥ 2,50,000.
(iii) Taken a Loan of ¥ 1,25,000 from Bank and deposited 9% Debenture of ¥ 2,50,000

as collateral security to the bank, which recorded in account books. Give Journal

entries in the books of BR Ltd.

___________-—'—-

~30-Accountancy

Previous Pathshala






